
Toutes les Opérations (G)Calculez chaque somme, différence, produit, ou quotient.2 × 4 = 1 × 3 = 5 + 3 = 1 + 4 =4 ÷ 2 = 6 ÷ 2 = 8 ÷ 4 = 5 × 3 =3 ÷ 3 = 3 ÷ 1 = 3 + 4 = 10 - 5 =2 × 4 = 6 - 2 = 2 × 5 = 9 - 4 =4 + 5 = 4 ÷ 2 = 5 - 2 = 4 ÷ 2 =3 × 3 = 16 ÷ 4 = 10 - 5 = 2 × 3 =3 ÷ 1 = 4 + 1 = 12 ÷ 4 = 10 ÷ 5 =2 ÷ 1 = 3 × 3 = 3 × 5 = 1 + 2 =1 × 5 = 4 + 5 = 4 × 2 = 9 - 4 =9 ÷ 3 = 5 + 5 = 4 + 3 = 4 × 1 =4 + 2 = 2 × 1 = 7 - 3 = 8 ÷ 4 =4 + 2 = 15 ÷ 5 = 7 - 2 = 4 + 4 =3 × 5 = 15 ÷ 5 = 6 - 1 = 4 + 1 =5 ÷ 5 = 3 + 1 = 4 + 2 = 2 × 5 =8 - 4 = 1 + 2 = 5 ÷ 5 = 4 - 2 =4 × 2 = 4 × 1 = 6 ÷ 2 = 5 × 1 =5 × 1 = 3 + 4 = 4 - 3 = 16 ÷ 4 =15 ÷ 5 = 25 ÷ 5 = 25 ÷ 5 = 4 × 5 =4 × 2 = 6 - 2 = 10 - 5 = 5 × 4 =5 × 2 = 5 + 1 = 4 - 3 = 4 + 3 =2 + 5 = 3 ÷ 3 = 9 - 5 = 3 + 2 =2 + 4 = 1 + 3 = 10 - 5 = 3 × 4 =10 ÷ 5 = 2 × 3 = 4 × 4 = 5 ÷ 1 =2 ÷ 1 = 2 ÷ 2 = 3 ÷ 3 = 4 ÷ 1 =8 - 5 = 1 + 2 = 2 × 2 = 8 ÷ 2 =Mathslibres.com



Toutes les Opérations (G) RéponsesCalculez chaque somme, différence, produit, ou quotient.2 × 4 = 8 1 × 3 = 3 5 + 3 = 8 1 + 4 = 54 ÷ 2 = 2 6 ÷ 2 = 3 8 ÷ 4 = 2 5 × 3 = 153 ÷ 3 = 1 3 ÷ 1 = 3 3 + 4 = 7 10 - 5 = 52 × 4 = 8 6 - 2 = 4 2 × 5 = 10 9 - 4 = 54 + 5 = 9 4 ÷ 2 = 2 5 - 2 = 3 4 ÷ 2 = 23 × 3 = 9 16 ÷ 4 = 4 10 - 5 = 5 2 × 3 = 63 ÷ 1 = 3 4 + 1 = 5 12 ÷ 4 = 3 10 ÷ 5 = 22 ÷ 1 = 2 3 × 3 = 9 3 × 5 = 15 1 + 2 = 31 × 5 = 5 4 + 5 = 9 4 × 2 = 8 9 - 4 = 59 ÷ 3 = 3 5 + 5 = 10 4 + 3 = 7 4 × 1 = 44 + 2 = 6 2 × 1 = 2 7 - 3 = 4 8 ÷ 4 = 24 + 2 = 6 15 ÷ 5 = 3 7 - 2 = 5 4 + 4 = 83 × 5 = 15 15 ÷ 5 = 3 6 - 1 = 5 4 + 1 = 55 ÷ 5 = 1 3 + 1 = 4 4 + 2 = 6 2 × 5 = 108 - 4 = 4 1 + 2 = 3 5 ÷ 5 = 1 4 - 2 = 24 × 2 = 8 4 × 1 = 4 6 ÷ 2 = 3 5 × 1 = 55 × 1 = 5 3 + 4 = 7 4 - 3 = 1 16 ÷ 4 = 415 ÷ 5 = 3 25 ÷ 5 = 5 25 ÷ 5 = 5 4 × 5 = 204 × 2 = 8 6 - 2 = 4 10 - 5 = 5 5 × 4 = 205 × 2 = 10 5 + 1 = 6 4 - 3 = 1 4 + 3 = 72 + 5 = 7 3 ÷ 3 = 1 9 - 5 = 4 3 + 2 = 52 + 4 = 6 1 + 3 = 4 10 - 5 = 5 3 × 4 = 1210 ÷ 5 = 2 2 × 3 = 6 4 × 4 = 16 5 ÷ 1 = 52 ÷ 1 = 2 2 ÷ 2 = 1 3 ÷ 3 = 1 4 ÷ 1 = 48 - 5 = 3 1 + 2 = 3 2 × 2 = 4 8 ÷ 2 = 4Mathslibres.com


